s 10% ~ =
A308|| 2024721 | LS '8 (aw 2 e
1. = 0%/ LOF WSl ()3 ()2 %20 () 2E 53AS ( )2 FHUO
Ll {52 #& X0 22 gloalet
2. = 1%/ LS|t ABXAE ( IS XA & & 2HE H20 Ll ( )M

3.

4.

7.

9.

10.

N F5ts Xl ( )2 FAIX &=L SHAILIS
) EXJIDEZH =010 O & 5SS 20+ I

= 122/ =NHA OlEAE () (U1 ( &
eI0l OIZ Mol 1 =01 O ot A=

et ( )2 U & X 32U =
( )0l U220t

= 13%/ IS0 HFAO0L A*IIIP%% ( ) U ISE UES ( )Od

( )OI M M7DIE 1 Ol 23 201 LI HalQl ( )€ 2o & &0l F HOolU
U HEOF &okAl OtLIoH R =T

= 14E/ T WA 2= ot X 22 MAt Mt XS 0SS0l ( )Xl 01
otXl OtLIGHH s34l ( )Jb =X REtD =FREX ( JE X1 UE MEX = Xt
& 535l ( )Jt =Xl Ratelet

= 15&/ UWoF WsoiAl ol2<U olgk 20l ( )OI ( ot Stslid= 3HE A

S*AE ( o2 20|20 JIidt= 20 ( )

= 162/ Wot HS0IA L5teLl ( )2 EFE AtAel 226t O ME0l S0
Mol 20l HSE ( )2 FFotelct
.5 17E/ HiElMIS0] stUE Sl tetol e ol 2otUoin 2Hs Gi=HA tHESHH Ol
ZAE ( )2 2 = UA Ydk= A0l OtLIR &£ 0Dl ACH Il JUCtDE Ratel

LI 3tLHE S Liets ( )OIl A=Llet

= 18%/ o2 ( JHA 1 B FERE 6t IS ( )€ E0{ =X OtLIGHA|
Al OAS0A 224 F2A2=0L WoE HSIoH 012U Kol 1 &stE 20 FAlclch
L ( )OIl AI&HOIA ( )& 2ALLE StAILIEH

= 198/ ( ) AA =N HIRRE =0 EAISAA ( )2 Jtst RSO0l Al
FUALH et =39 AE £ XS L0l A2LE ( )OILE ZERLLOICH Gll<=MMA Ol
2ANE 2& ( )0l Ol &l oOI2& 2L 0] AHZE T ( J20l2C



